How Many Stones Will | Need Anchor Papers
STUDENT A

How Many Stones Will | Need?

The illustration below shows how a gardening company defines the sizes of its gardens as well as how it puts
steppling stones around the outside of each.
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expression that could be used to calculate the
- ﬁ number of stones needed for a garden of size n.
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2.) Explain how the three algebraic expressions that you
creatzd inthe bc-ttum row relate to the gardens.
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stones are required for a garden of size 100, Does the result make sense? Explain your reasoning.
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STUDENT B

STUDENT B N
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How Many Stones Will | Need? nn

The illustration below shows how a gardening company defines the sizes of its gardens as well as how it puts
stepping stones around the outside of each.
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! 1.) Fill the table below with values for gardens of given
{
size pattern sizes. Then, generalize by writing an algebraic

expression that could be used to calculate the
: ﬁ

{_:] 0 number of stones needed for a garden of size n.

. mo*.@@

A I 0 of | #of # of
;*"“".' G:::n Stones | Stones | Stones
Wide Long Needed
1 A 9 10
. 2 [y | s 4
3 | < |6 | I |
4 b i 3. |
5 A g ’SLE: /
10 i':;, | |a, Y 4
n|n¥l R In il <"/
"'.I'I 3 2) Explain how the three algebraic expressions that you
'*.Q created in the bottom row relate to the gardens.
Al &t oaccln ore
:‘ ¢ unid .'Olrr:}ér“ Vhae o Quere,

Wihich  movs Yere ap D mer

-'{{ '--'-f”ﬂ"s " "J I enl‘]'i‘- o oedee ‘(—J-'I wy Y

?
L;l lf”l tl L"‘ ~’ ¥ j.-—
ﬁ; In thelr simplest form? Ifnut,, simpllhr tﬁern 1n thne spacE helu:u F & A C-"'r

I[)L-, l._f.}‘, T

4.}  Use your simplified expression for the number of stones needed to evaluate and determine how many
stones are required for a garden of size 100. Does the result make sense? Explain your reasoning. »‘-J"- N
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STUDENT B CONT'D
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STUDENT C

How Many Stones Will | Need?

The illustration below shows how a gardening company defines the sizes of its gardens as well as how it puts
stepping stones around the cutside of each.
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1.) Fill the table below with values for gardens of given
sizes. Then, generalize by writing an algebraic
exprassion that could be used to calculate the i {"f-'})
number of stones needed for a garden of size n, }E (.-{&
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2.) Explain how the three algebraic expressions that you
created in the bottom row relate to the gardens.
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3.)  Areyour algehralf}tg’resslnns in their sim plest form? If not, simplify them in the space below,
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4.] Use your simplified expression for the number of stones needed to evaluate and determing how many
stones are required for a garden of size 100. Does the result rnake sense? Eaplam your reamnmg.
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STUDENT D

How Many Stones Will | Need?

The llestration below shoed how & gardening company defines the sizes of its gardens as well a5 how it puts

siepping stones around the owutside of sach.
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4} Use your simplified expression Ter the numeruli;guuuwt-:mm and detesmine how mary
stones sre required Far & garden of sie 100, Does the result make sensa? Explain your rgasoning.
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How Many Stones Will | Need?

The illustration below shows how a gardening company defines the sizes of its gardens as well as how it puts
stepping stones around the outside of each.
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4.) Use your simplified expression forthe nu mber of stones needed to evaluate and determing how ma H ﬂ
stones are required for a garden of size 100, Does the result make sense? Explain your reasoning.
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How Many Stones Will | Need?

How Many Stones Will | Need Anchor Papers

The illustration below shows how a gardening company defines the sizes of its gardens as well as how it puts

stepping stones around the outside of each.

I i 1) Fill the table below with values for gardens of given
size sizas, Then, generalize by writing an algebraic
' expression that could be used to calculate the
number of stones needed for a garden of size n,
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i) J}gg your algebraic expressions in their simplest form? If not, simpiify them in the space below. & 3
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4.) Use your simplified expression for the number of stones needed to evaluate and determine how many
stones are required for a garden of size 100, Does the result make sense? Explain your reasoning.
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